GOVERNMENT OF INDIA

INDIA TRADE PROMOTION ORGANISATION

NOTICE INVITING TENDER

Item rate/percentage rate tenders are invited on behalf of the CMD, ITPO from approved and eligible contractors of ITPO, CPWD and those of appropriate list of Department of Telecommunications, M.E.S., Railways up to 3.00 PM on 28.08.2014, which will be opened on the same day by him (or) his authorized representative at 3.30 PM for the work of R/M and upkeep of ITPO Premises at Pragati Maidan during 2013-14, SH. Misc. work at Hall No.1,2,3,4,5,6, 20, Business lounge at gate No.1, IBL Gate No.2, Prantik Bldg., Gate Complex etc.

The enlistment of the contractors should be valid on the last date of sale of tenders.

In case only the last date of sale of tender is extended, the enlistment of contractor should be valid on the original date of sale of tenders.

In case both the last date of receipt of application and sale of tenders are extended, the enlistment of contractor should be valid on either of the two dates i.e. original date of sale of tender or on the extended date of sale of tenders.

- 1.1 The work is estimated to cost Rs. 6,27,590/- This estimate, however, is given merely as a rough guide.
- 1.1.1. The authority competent to approve NIT for the combined cost and belonging to the major disciple will consolidate NITs for calling the tenders. He will also nominate Division which will deal with all matters relating to the invitation of tenders.

For composite tender, besides indicating the combined estimated cost put to tender, should clearly indicate the estimated cost of each component separately. The eligibility of tenderer will correspond to the combined estimated cost of different components put to tender.

1.2 Tenders will be issued to eligible contractors provided they produce definite proof from the appropriate authority, which shall be to the satisfaction of the competent authority, of having satisfactorily completed similar works of magnitude specified below:-

1.2.1 Conditions for Non – CPWD contractors only, if tenders are also open to non-CPWD contractors.

For works estimated to cost up to Rs.15 Crore. – not applicable for this work.

Three similar works each of value not less than 40% of estimated cost or two similar work each of value not less than 50% of estimated cost or one similar work of value not less than 80% of estimated cost (rounded to nearest Rs.10 lac) in last 7 years ending last day of the month previous to the one in which the tenders are invited.

Note: For works costing above Rs. 3 crore but up to Rs. 15 crore, when tenders are open to non- CPWD contractors also, then class II contractors of CPWD shall also be eligible if they satisfy the eligibility criteria specified in 1.2.1 above.

1.2.2 Criteria of eligibility for CPWD as well as on- CPWD contractors.

For works estimated to cost above Rs. 15 crore. – not applicable for this work

Three similar works each of the value not less than 40% of estimated cost of two similar work each of value not less than 60% of estimated cost or one similar work of value not less than 80% of estimated cost (rounded to nearest Rs. 10 lac) in last 7 years ending last day of the month previous to the one in which the tenders are invited.

The value of executed works shall be brought to current costing level by enhancing the actual value of work at simple rate of 7% per annum, calculated from the date of completion to the last date of receipt of applications for tender

- 2. Agreement shall be drawn with the successful tenderer on prescribed Form No. C.P.W.D. 7/8 which is available as a Govt. of India publication. Tenderer shall quote his rates as per various terms and conditions of the said form which will form part of the agreement.
- **3.** The time allowed for carrying out the work will **be running contract for one year** from the date of start as defined in schedule 'F' or from the first date of handing over of the site, whichever is later, in accordance with the phasing, if any, indicated in the tender documents.
- **4.** The site for the work is available.

OR

The site for the work shall be made available in parts as specified below:

5. Applications for issue of forms shall be received by Manager (Civil) upto 3.00 PM and tender documents shall be issued by Manager (Civil) upto 4.00 PM. Tender documents consisting of plans, specifications, the schedule of quantities of the various classes of work to be done and the set of terms & conditions of contract to be compiled with by the contractor whose tender may be accepted and other necessary documents can be seen in the office of the Manager (Civil) between hours of 11.00 A.M. to 03.00 P.M. from 18.08.2014 to 28.08.2014 everyday except Saturday, Sundays and public Holidays. Tender documents excluding standard form, will be issued from his office, during the hours specified above, on payment of Rs. 525/- in cash as cost of tender.

6. (i) Tenders shall be accompanied with Earnest money of Rs. 13,000/-in cash (upto Rs.10000) demand draft of a scheduled bank issued in favour of India Trade Promotion Organisation, New Delhi. 50% of earnest money or Rs.20 lakh, whichever is less, will have to be deposited in the shape prescribed above and balance amount of earnest money can be accepted in the form of Bank guarantee issued by a scheduled bank having validity for 6 months or more from the last date of receipt of tenders.

ii) The tender and the earnest money shall be placed in separate sealed envelopes, each marked "Tender" and "Earnest Money" respectively. In cases where earnest money in cash is acceptable, the same shall be deposited with the Cash section of ITPO and the receipt placed in the envelope meant for earnest money. Both the envelopes shall be submitted together in another sealed envelope with the name of work and due date of opening written on envelope, which will be received by the Manager (Civil) **upto 3.00 P.M. on 28.08.2014** and will be

opened by him or his authorised representative in his office on the same day at 3.30 P.M. The envelope marked "Tender" of only those tenderers shall be opened, whose earnest money, placed in the other envelope, is found to be in order.

- 7. The Contractor whose tender is accepted, will be required to furnish performance guarantee of 5% (Five percent) of the tendered amount within the period specified in Schedule F. This guarantee shall be in the form of cash (in case guarantee amount if less than Rs.10,000/-) OR Demand Draft of any scheduled bank/Pay order of any scheduled bank (in case guarantee amount is less than Rs.1,00,000/-) or Government Securities or Fixed Deposit Receipts or Guarantee Bonds of any Scheduled Bank or the State Bank of India in accordance with the prescribed from. In case the contractor fails to deposit the said performance guarantee within the period as indicated in Schedule 'F', including the extended period if any, the Earnest Money deposited by the contractor shall be forfeited automatically without any notice to the contractor.
- **8.** The description of the work is as follows:

Copies of other drawings and documents pertaining to the works will be open for inspection by the tenderers at the office of the above mentioned officer.

Tenderers are advised to inspect and examine the site and its surroundings and satisfy themselves before submitting their tenders as to the nature of the ground and sub-soil (so far as is practicable), the form and nature of the site, the means of access to the site, the accommodation they may require and in general shall themselves obtain all necessary information as to risks, contingencies and other circumstances which may influence or affect their tender. A tenderer shall be deemed to have full knowledge of the site whether he inspects it or not and no extra charges consequent on any misunderstanding or otherwise shall be allowed. The tenderer shall be responsible for arranging and maintaining at his own cost all materials, tools & plants, water, electricity access, facilities for workers and all other services required for executing the work unless otherwise specifically provided for in the contract documents. Submission of a tender by a tenderer implies that he has read this notice and all other contract documents and has made himself aware of the scope and specifications of the work to be done and of conditions and rates at which stores, tools and plant, etc. will be issued to him by the Government and local conditions and other factors having a bearing on the execution of the work.

- **9.** The competent authority on behalf of the CMD, ITPO does not bind itself to accept the lowest or any other tender and reserves to itself the authority to reject any or all the tenders received without the assignment of any reason. All tenders in which any of the prescribed condition is not fulfilled or any condition including that of conditional rebate is put forth by the tenderer shall be summarily rejected.
- **10.** Canvassing whether directly or indirectly, in connection with tenders if strictly prohibited and the tenders submitted by the contractors who resort to canvassing will be liable to rejection.
- **11.** The competent authority on behalf of CMD, ITPO reserves to himself the right of accepting the whole or any part of the tender and the tenderer shall be bound to perform the same at the rate quoted.
- **12.** No Engineer of gazetted rank or other Gazetted officer employed in Engineering or Administrative duties in an Engineering Department of the Government of India is allowed to work as a contractor for a period of one year after his retirement from Government service, without the previous permission of the Government of India in writing. This contract is liable to be cancelled if either the contractor or any of his employees is found any time to be such a

person who had not obtained the permission of the Government of India as aforesaid before submission of the tender or engagement in the contractor's service.

- 13. The tender for the works shall remain open for acceptance for a period of ninety (90) days from the date of opening of tenders/Ninety days from the date of opening of financial bid in case tenders are invited on 2/3 envelope system (strike out as the case may be) if any tenderer withdraws his tender before the said period or issue of letter of acceptance, whichever is earlier, or makes any modifications in the terms and conditions of the tender which are not acceptable to the department, then the Government shall, without prejudice to any other right or remedy, be at liberty to forfeit 50% of the said earnest money as aforesaid. Further the tenderer shall not be allowed to participate in the re-tendering process of the work.
- **14.** This Notice Inviting Tender shall form a part of the contract document. The successful tenderer/contractor, on acceptance of his tender by the Accepting Authority, shall, within 15 days from the stipulated date of start of the work, sign the contract consisting of:
 - a) The notice inviting tender, all the documents including additional conditions, specification and drawings, if any, forming the tender as issued at the time of invitation of tender and acceptance thereof together with any correspondence leading thereto.
 - **b**) Standard C.P.W.D. Form **7**/8

Udaeveer Manager (Civil)

GOVERNMENT OF INDIA CENTRAL PUBLIC WORKS DEPARTMENT

STATE: D	elhi		CIRCLE		SMU-I
BRANCH	: Engg.		DIVISIO	N:	MCU-III
ZONE	Head office, D	elhi	SUB DIV	ISION:	DMU-II
	Per	centage Rate Tend	ler/Item Rate Tend	er & Contrac	et for Works
Tender for th	e work of:	R/M and upke	ep of ITPO Prer	nises at Pra	agati Maidan during 2013-14
SH.			all No.1,2,3,4,5,6, 2 ate Complex etc.	0, Business l	ounge at gate No.1, IBL Gate No.2
(i)To be submi	tted	3.00 p.m. (Time)	Hours on	28.08.201 (Date)	
· · ·	-	tenderers, who may (Udaeveer) at Prag	y be present at gati Maidan, New	3.30 p.m. Delhi	Hours on
Issued to:					
		(Contracto	r)		
Signature of of	ficer issuing the	documents			

Designation: Manager (Civil)

Date of issue: `	26.08.2014
Estimated Cost	Rs. 6,27,590.00
Earnest Money	Rs. 13,000.00

TENDER

I/We have read and examined the notice inviting tender, schedule, A, B, C, D, E & F, Specifications applicable, drawings & Designs, General Rules and Directions, Conditions of Contract, clauses of contract, special conditions, Schedule of Rate & other documents and Rules referred to in the conditions of contract and all other contents in the tender document for the work.

I/We hereby tender for the execution of the work specified for the President of India within the time specified in Schedule 'F', viz., schedule of quantities and in accordance in all respects with the specifications, designs, drawings and instructions in writing referred to in Rule -1 of General Rules and Directions and in Clause 11 of the Conditions of contract and with such materials as are provided for, by, and in respect in accordance with, such conditions so far as applicable.

We agree to keep the tender open for sixty (90) days from the due date of its opening and not to make any modifications in its terms and conditions.

A sum of **Rs 13,000/-** has been deposited as per NIT as earnest money. If I/we, fail to furnish the prescribed performance guarantee within prescribed period, I/we agree that the said President of India or his successors in office shall without prejudice to any other right or remedy, be at liberty to forfeit the said earnest money absolutely. Further, if I/we fail to commence work as specified, I/we agree that President of India or his successors in office shall without prejudice to any other right or remedy available in law, be at liberty to forfeit the said earnest money absolutely. Further, if I/we fail to commence work as specified, I/we agree that President of India or his successors in office shall without prejudice to any other right or remedy available in law, be at liberty to forfeit the said earnest money and the performance guarantee absolutely, otherwise the said earnest money shall be retained by him towards security deposit to execute all the works referred to in the tender documents upon the terms and conditions contained or referred to therein and to carry out such deviations as may be ordered, upto maximum of the percentage mentioned in Schedule 'F' and those in excess of that limit at the rates to be determined in accordance with the provision contained in Clause 12.2 and 12.3 of the tender form. Further, I/We agree that in case of forfeiture of earnest money or both Earnest Money & Performance Guarantee as aforesaid, I/We shall be debarred for participation in the retendering process of the work.

I/We hereby declare that I/we shall treat the tender documents drawings and other records connected with the work as secret/confidential documents and shall no communicate information/derived there from to any person other than a person to whom I/we am/are authorised to communicate the same or use the information in any manner prejudicial to the safety of the State.

Dated.....

Signatures of Contractor

Postal Address

Witness:

Address:

Occupation:

ACCEPTANCE

The above	tender (as	modified b	y you as provided i	in the letter	rs mentioned	hereunder)	is accepted	by me for	and on
behalf	of	the	President	of	India	for	a	sum	of
Rs			(Rupees))

The letters referred to below shall form part of this contract Agreement:-

- (1) Schedule of Quantities, NIT
- (2) Additional Conditions.
- (3) Wages for workers
- (4) Performa for Agreement and drawing of staircase

For & on behalf of CMD, ITPO

Signature.....

Dated.....

Designation.....

SCHEDULES

SCHEDULE 'A'

Schedule of quantities Enclosed

SCHEDULE 'B'

Schedule of materials to be issued to the contractor.

S.No.	Description of item	Quantity	Rates in figures & words at which The material will be charged to the Contractor	Place of issue
2.	2	3	4	5

NIL

SCHEDULE 'C'

Tools and plants to be hired to the contractor

S.No.	Description	Hire charges per day	Place of issue
1.	2.	3	4

NIL

ITPO

-8-

SCHEDULE 'D'

Extra schedule for specific requirements/documents for the work, if any.

-N/A

SCHEDULE 'E'

Schedule of component of Cement, Steel, other materials, Labour etc. for price escalation.- Nil

CLAUSE 10 CC

Component of Cement – expressed as percent of total value work.			
Component of Steel-expressed as percent of total work. Component of civil (except cement & steel)/Electrical construction Materials-expressed as percent of total value of work.	N/A N/A		
Component of labour-expressed as per cent of total value of work.	N/A		
Component of P.O.L. – expressed as percent of total value work.	N/A		

SCHEDULE 'F'

Reference to General Conditions of contract.

Name of work: R/M and upkeep of ITPO Premises at Pragati Maidan during 2013-14

SH. Misc. work at Hall No.1,2,3,4,5,6, 20, Business lounge at gate No.1, IBL Gate No.2, Prantik Bldg., Gate Complex etc.

(i)	Estimated cost of work	Rs. 6,27,590/-		
(ii)	Earnest money:	Rs. 13,000/-		
(iii)	Performance Guarantee	5% of tendered value		
(iv)	Security Deposit	5% of tendered value		

General Rules & Directions:

Officer	inviting tender	Manager (Civil)						
	Maximum percentage for quantity of items of work to be executed beyond Which rates are to be determined in accordance with Clauses 12.2 & 12.3 100%							
Definit	ions							
2(v)	Engineer-in-Charge	Manager (Civil)						
2(viii)	Accepting Authority	As per DFPR Sch. V of ITPO						
2(x)	Percentage on cost of materials and Labour to cover all overheads and profits.	15%						
2(xi)	Standard Schedule of Rates	DSR-2012 & market rates						
2(xii)	Department	ITPO (Engg.)						
9(ii)	Standard CPWD contract Form CPWD	form 7/8 as modified & corrected upto date						
Clause	1							
(i)	Time allowed for submission of Performance From the date of issue of letter of acceptance	e Guarantee 7 days						
(ii)	Maximum allowable extension beyond the pe (Provided in i) above	eriod 4 days						
Clause	2							
Author	ity for fixing compensation under clause 2.	GM (W)						
Clause 2A								
	er clause 2A shall applicable	No						
Whethe	Clause 4A Whether Modified provisions are applicable for percentage rate tender only (CPWD-7) Applicable Clause 5							
	er of days from the date of issue of letter ance for reckoning date of start	4 days						

-10-

Mile stone(s) as per table given below:

Table of Mile Stone(s)

Sl.	Description of	Time allowed in days	Amount to be withheld in case of non
No.	Milestone(Physical)	(from date of start)	achievement of milestone
1.	1/8 th (of the whole work)	1/4 th (of the whole work)	In the event of not achieving the necessary progress as assessed from the running payments, 1% of the tendered value of work will be withheld for failure of each mile stone.
2.	3/8 th (-do-)	¹⁄₂ (- do -)	
3.	3/4 th (-do-)	3/4 th (-do-)	
4.	Full	Full	

Time allowed for execution of work

Clause 6, 6AClause applicable – (6 or 6A)Clause 6AClause 7Gross work to be done together with net payment/adjustmentN Aor advance for material collected, if any since the last such paymentN Afor being eligible to interim paymentClause 10AList of testing equipment to be provided by the contractor at site lab.Image: Clause 10A

As per the site requirement and as per direction of Engineer Incharge

Clause 10 B (ii)

Whether Clauses 10 B (ii) shall be applicable

Clause 10CA

Materials covered under this clause Nearest Material for which All India Wholesale Price Index is to be Followed

No

1	NA
2	
3	

Running contract for one year

Clause 10CC Clause 10CC to be applicable in contracts with stipulated	period of
Completion exceeding the period show in text column	18 months
Clause 11	
Specification to be followed for execution of work	CPWD Specifications 2010, Part I & II with Up-to-date correction slips.
Clause 12	
Deviation limit beyond which clauses 12.2 & 12.3 shall	
Apply for building work	50%
Deviation limit beyond which clauses 12.2. & 12.3	
Shall apply for foundation work	100%
Clause 16	
Competent Authority for deciding reduced rates.	DGM (C)

Clause 18

List of mandatory machinery, tools & plants to be deployed by the contractor at site:-

As per the site requirement and as per direction of Engineer Incharge

Clause 36(i)

S.N.	Minimum	Discipline	Designation	Minimum	Number	Rate at which
	qualification of Technical		(Principal Technical/Tech	experience		recovery shall be made from the
			nical			contractor in the
	Representative		representative)			event of not fulfilling
			representative)			provision of clause
						36(i)
						Figures Words
1.	Graduate	Civil	Principal	Nil	1	15,000/- (Rupees
	Engineer		Technical			fifteen thousand
	Or					only) per month
2.	Diploma			5 years	1	
	Holder					

Assistant Engineers retired from Government services that are holding Diploma will be treated at par with Graduate Engineers.

CLAUSE 42

 (i)(a) Schedule/statement for determining theoretical quantity of cement & Bitumen on the basis of Delhi Schedule of Rates DSR 2007 printed by C.P.W.D.

(ii)Variations permissible on theoretical quantities.

a)	Cement for works with estimated cost put to	3% plus/minus
	Tender not more than Rs. 5 Lakhs	
	For works with estimated cost put to tender	2% plus/minus
	More than 5 Lakhs	
b)	Bitumen for all works	2.5% plus only & nil on minus side
c)	Steel Reinforcement and structural steel	2% plus/minus
	Sections for each diameter, section and category	
d)	All other materials	Nil

RECOVERY RATES FOR QUANTITIES BEYOND PERMISSIBLE VARIATION

S.No.	Description of Item	Rates in figures and words at which recovery shall be made from the contractor	
		Excess beyond permissible variation	Less use beyond the permissible variation
1.	Cement		5600/-ton
2.	Steel reinforcement		L &T, ACC, Laxshmi Cement, CCI, Birla Uttam or equivalent if
3.	Structural Sections		applicable
4.	Bitumen issued free		
5.	Bitumen issued at stipulated fixed price		

INDIA TRADE PROMOTION ORGANISATION Engineering division

No. 180-ITPO-MCU-I/misc. /Engg/2014-15

Dated: 18.08.2014

BRIEF NOTICE INVITING TENDER

The Manager (Civil), Engineering Division, Room No. 141, India Trade Promotion Organisation, Pragati Maidan, New Delhi on behalf of CMD, ITPO invites sealed percentage rate tenders for the following works from approved and eligible contractors of ITPO, CPWD and those of appropriate list of Department of Telecommunications, M.E.S. and Railways and specialised agencies for S. No. 1, details of which briefly described hereunder.

S.N	Name of work	Time for	Estimated	Earnest	Cost of
		Completion	Cost	Money	Tender
1.	Providing on hire basis wire mesh & GI sheet	Running	6,04,800/-	12,100/-	525/-
	barricading for IITF'2014 and other fairs at	contract for			
	Pragati Maidan	one year			
2.	P/F Aluminum glazing with toughened glass at	30 days	6,61,597/-	13,300/-	525/-
	front façade, brick work, plastering, finishing etc.				
	at Mezzanine floor of Hall No.7 at Pragati Maidan				
3.	Misc. work at Hall No.1,2,3,4,5,6, 20, Business	Running	6,27,590/-	13,000/-	525/-
	lounge at gate No.1, IBL Gate No.2, Prantik	contract for			
	Bldg., Gate Complex etc.	one year			

The period of sale of tender document is kept from 11.00 AM to 3.00 PM on all working days up to 26.08.2014 with date of opening at 3.30 PM on 28.08.2014. For further details including downloadable form of tender documents, please refer website www.indiatradefair.com & www.eprocure.gov.in

> (Udaeveer) Manager (civil)

14 INDIA TRADE PROMOTION ORGANISATION Engineering Division

No. 180-ITPO-MCU-I/03 /Engg/2014-15

Dated: 18.08.2014

DETAILED TENDER NOTICE

The Manager (Civil), Engineering Division, Room No. 141, India Trade Promotion Organisation, Pragati Maidan, New Delhi on behalf of CMD, ITPO **invites sealed percentage rate tenders** for the following work from approved and eligible contractors of ITPO, CPWD and those of appropriate list of Department of Telecommunications, M.E.S. and Railways **and specialised agencies for S. No. 1** up **to 3.00 PM on 28.08.2014**, which will be opened on the same day by him (or) his authorized representative at **3.30 PM**.

S.N	Name of work	Time for Completion	Estimated Cost	Earnest Money	Cost of Tender
1.	Misc. work at Hall No.1,2,3,4,5,6, 20, Business lounge at gate No.1, IBL Gate No.2, Prantik Bldg., Gate Complex etc.	-	6,27,590/-	13,000/-	525/-

Earnest Money should be deposited through Bank Draft drawn in favour of India Trade Promotion Organisation payable at New Delhi (or) cash deposited with the Cashier in Cash Section of ITPO (less than 10,000/-) and Bank Draft/Cash Receipt to be sent with the tender document, while submitting the same.

Conditions and tender forms can be had from the office of the undersigned on production of **PAN NO.**, **TIN NO and Service Tax No.** (if applicable), copy of D-vat & Service Tax return/clearance certificate upto date of last quarter between **11.00 AM to 3.00 PM** on all working days **up to 26.08.2014** for the tender cost mentioned as above (Non Refundable).

The tender document is also available on our website **www.indiatradefair.com & www.eprocure.gov.in** and same can be down loaded and used as tender document for submitting the tender. However, the documents required such as two DDs towards Cost of Tender and Earnest money (Demand Draft should be in favour of India Trade Promotion Organisation, payable at New Delhi) should be enclosed in one envelop to be marked **"Cost of tender & Earnest money**" as well as Registration with the department as mentioned above, PAN Number, TIN Number, Service Tax Number and copy of D-vat & Service Tax return/clearance certificate upto date of last quarter should be enclosed in another second envelope to be marked **"Eligibility Bid"**. **The Financial bid and schedule of quantities** is to be submitted in separate envelopes marked "**Financial Bid** for......", for each work specified in the table above.

These envelopes i.e., "Cost of tender & Earnest Money", "Eligibility Bid" and "Financial Bids" should be put in one envelop, properly sealed and submitted to Manager (Civil), Room No.141.

The Financial bids will be opened only of those agencies qualified to tender as per the eligibility criteria. In case the tender is not accompanied with the above and tender does not qualify as per the eligibility criteria, the tender will summarily rejected.

(UDAEVEER) Manager (civil)

15 SCHEDULE OF QUANTITIES

Name of work: R/M and upkeep of ITPO Premises at Pragati Maidan during 2014-15

SH.: Misc. work at Hall No.1,2,3,4,5,6, 20, Business lounge at gate No.1, IBL Gate No.2, Prantik Bldg., Gate Complex etc.

S.	Description of item	Qty.	Rate	Unit	Amount
<u>No</u>	Penewing glass paper, with evicting, wooden /M.S. fillets				
1	Renewing glass panes, with existing wooden /M.S fillets wherever necessary:				
1.1	Float glass panes of thickness 6mm	27.00	1096.15	Sqm	29596.00
1.2	Float glass panes of thickness 4mm	27.00	864.15	Sqm	23332.00
2	Supplying of glass panes of different sizes.				
2.1	Float glass panes of thickness 6mm	20.00	809.60	Sqm	16192.00
2.2	Float glass panes of thickness 4mm	15.00	577.60	Sqm	8664.00
3	Supplying of 12 mm thick Cement based laminated panel board of approved quality in required sizes	15.00	515.35	Sqm	7730.00
4	Providing and fixing ivory vitreous china pedestal type water closet of cera cat no.2035 of size 670x390x760mm, vitreous china flushing cistern cat no.2115 i/c C.P bend with fitting, C.I. brackets, seat anf lid cat No. 2315 & BT twin flushing fitting Cat No.2235 with specials of standard make and mosquito proof coupling of app. Municipal design complete i/c cutting and making good the wall & floors wherever required as per the direction of Engineer-in-charge	1.00	14549.00	Each	14549.00
5	Providing and fixing BT twin flushing fitting Cat No.2235 with specials of standard make i/c removing the damaged flushing fitting of existing cistern etc complete as per the direction of Engineer-in-charge	10.00	2630.00	Each	26300.00
6	Removing/Re-fixing the existing aluminium door shutter and dismembering the shutter and re-assemble the shutter i/c providing new aluminium cleats and hinges of heavy duty i/c tighten the vertical member with 6mm thick fully treaded rod both side nut & washers at top & bottom horizontally etc complete as per the direction of Engineer- in-charge	15.00	1054.60	Sqm	15819.00
7	P/F 20mm square M.S. beading of 2mm thickness for fixing glass panes with steel/M.S. screws with drilling machine i/c a priming coat of approved steel primes as per the direction of Engineer-in-charge.	125.00	86.75	meter	10844.00
8	Providing and fixing Auto Push C.P. brass pillar cock as per sample provided in Admn. toilet and weighing not less than 620 grams as per direction of Engineer in charge.	4.00	1334.15	each	5337.00
9	Providing and fixing Auto Push C.P. brass bib cock as per sample provided in Admn. toilet and weighing not less than 620 grams as per direction of Engineer in charge.	4.00	1322.60	each	5290.00
10	Providing and fixing Auto C.P. brass push cock for urinals as per sample provided in Admn. toilet and weighing not less than 400 grams as per direction of Engineer in charge.	3.00	969.80	each	2909.00

11	P/f stainless steel in Satin Finish Vertical Liquid soap dispenser of capacity 1.20ltr of Model no. A-605 of Ancon or Equivalent and as per the direction of Engg-in-charge	5.00	2606.00	each	13030.00
12	P/f wall to wall mirror of 5.5-6.0mm thick complete with hard board ground fixed with rawl plug of approved design and with C.P. brass screws and washers i/c rubber wood moulded beading all round mirror etc. complete & as per the direction of Engg-in-charge.	2.00	2470.00	Sqm	4940.00
14	Excavating trenches of required width for pipes, cables, etc including excavation for sockets, and dressing of sides, ramming of bottoms, depth upto 1.5 m, including getting out the excavated soil, and then returning the soil as required, in layers not exceeding 20 cm in depth, including consolidating each deposited layer by ramming, watering, etc. and disposing of surplus excavated soil as directed, within a lead of 50 m :				
14. 1	All kinds of soil				
14. 1.1	Pipes, cables etc. exceeding 80 mm dia. but not exceeding 300 mm dia	35.00	192.75	metre	6746.00
15	Dismantling old plaster or skirting raking out joints and cleaning the surface for plaster including disposal of rubbish to the dumping ground within 50 metres lead.	75.00	18.15	Sqm	1361.00
16	Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering - All work up to plinth level :				
16. 1	1:2:4 (1 cement : 2 coarse sand : 4 graded stone aggregate 20 mm nominal size)	5.00	4921.70	cum	24609.00
16. 2	1:5:10 (1 cement : 5 coarse sand : 10 graded stone aggregate 40 mm nominal size)	3.00	3672.80	cum	11018.00
17	Brick work with common burnt clay F.P.S. (non modular) bricks of class designation 7.5 in superstructure above plinth level up to floor V level in all shapes and sizes in :				
17.	Cement mortar 1:6 (1 cement : 6 coarse sand)	3.00	5325.10	cum	15975.00
18	Reinforced cement concrete work in beams, suspended floors, roofs having slope up to 15° landings, balconies, shelves, chajjas, lintels, bands, plain window sills, staircases and spiral stair cases up to floor five level, excluding the cost of centering, shuttering, finishing and reinforcement, with 1:2:4 (1 cement : 2 coarse sand : 4 graded stone aggregate 20 mm nominal size).	1.00	6107.15	cum	6107.00
19	Centering and shuttering including strutting, propping etc. and removal of form for :				
19. 1	Lintels, beams, plinth beams, girders, bressumers and cantilevers	3.00	309.80	sqm	929.00
20	Steel reinforcement for R.C.C. work including straightening, cutting, bending, placing in position and binding all complete upto plinth level.				
20.	Thermo-Mechanically Treated bars	25.00	66.50	kg	1663.00

		1		1	1
21	Repairs to plaster of thickness 12 mm to 20 mm in patches of area 2.5 sq. meters and under, including cutting the patch in proper shape, raking out joints and preparing and plastering the surface of the walls complete, including disposal of rubbish to the dumping ground within 50 metres lead :				
21.	With cement mortar 1:4 (1 cement : 4 fine sand)	25.00	221.15	Sqm	5529.00
22	Demolishing cement concrete manually/ by mechanical means including disposal of material within 50 metres lead as per direction of Engineer - in - charge.				
22. 1	Nominal concrete 1:3:6 or richer mix (i/c equivalent design mix)	3.00	806.35	cum	2419.00
23	Demolishing brick work manually/ by mechanical means including stacking of serviceable material and disposal of unserviceable material within 50 metres lead as per direction of Engineer-in-charge.				
23.	In cement mortar	4.00	681.00	cum	2724.00
24	Dismantling tile work in floors and roofs laid in cement mortar including stacking material within 50 metres lead.				
24.	For thickness of tiles above 25 mm and up to 40 mm	20.00	39.75	Sqm	795.00
25	Providing and laying 60mm thick factory made cement concrete interlocking paver block of M -30 grade made by block making machine with strong vibratory compaction, of approved size, design & shape, laid in required colour and pattern over and including 50mm thick compacted bed of coarse sand, filling the joints with fine sand etc. all complete as per the direction of Engineer-in-charge.	10.00	557.45	Sqm	5575.00
26	Dismantling cement asbestos or other hard board ceiling or partition walls including stacking of serviceable materials and disposal of unserviceable materials within 50 metres lead.	15.00	19.80	Sqm	297.00
27	Providing and fixing flat pressed 3 layer medium density particle board or graded particle board (Grade I) IS: 3087 marked, in ceiling with necessary nails etc. complete (frame work to be paid separately) :	15.00	618.90	Sqm	9284.00
28	Welding by gas or electric plant including transportation of plant at site etc. complete.	1200.00	2.85	cm	3420.00
29	Providing wood work in frames of doors, windows, clerestory windows and other frames, wrought framed and fixed in position with hold fast lugs or with dash fasteners of required dia & length (hold fast lugs or dash fastener shall be paid for separately).				
29. 1	Sal wood	1.00	73331.40	cum	73331.00
30	Providing wood work in frames of false ceiling, partitions etc. sawn and fixed in position				
30.	Kiln seasoned and chemically treated hollock wood	0.25	46436.80	cum	11609.00

31	Cutting road and making good the same including supply of extra quantities of materials i.e. aggregate, moorum screening, red bajri and labour required.				
31.	bituminous portion	1.00	2151.60	cum	2152.00
32	Providing and laying non-pressure NP2 class (light duty) R.C.C. pipes with collars jointed with stiff mixture of cement mortar in the proportion of 1:2 (1 cement : 2 fine sand) including testing of joints etc. complete :				
32. 1	150 mm dia. R.C.C. pipe	27.00	340.35	metre	9189.00
33	Constructing brick masonry road gully chamber 45x45x77.5 cm with bricks in cement mortar 1:4 (1 cement : 4 coarse sand) with precast R.C.C. vertical grating complete as per standard design :				
33. 1	With common burnt clay F.P.S. (non modular) bricks of class designation 7.5	3.00	4228.00	each	12684.00
34	Providing and laying cement concrete 1:5:10 (1 cement : 5 coarse sand : 10 graded stone aggregate 40 mm nominal size) up to haunches of S.W. pipes including bed concrete as per standard design :				
34. 1	150 mm diameter S.W/RCC pipe	27.00	418.70	metre	11305.00
35	Providing and fixing ISI marked flush door shutters conforming to IS : 2202 (Part I) non-decorative type, core of block board construction with frame of 1st class hard wood and well matched commercial 3 ply veneering with vertical grains or cross bands and face veneers on both faces of shutters :				
35. 1	35 mm thick including ISI marked Stainless Steel butt hinges with necessary screws	15.00	1684.75	Sqm	25271.00
36	Providing and fixing white vitreous china pedestal type water closet (European type W.C. pan) with seat and lid, 10 litre low level white P.V.C. flushing cistern, including flush pipe, with manually controlled device (handle lever), conforming to IS : 7231, with all fittings and fixtures complete, including cutting and making good the walls and floors wherever required :				
36. 1	W.C. pan with ISI marked white solid plastic seat and lid	1.00	3189.75	each	3190.00
37	Providing and fixing wash basin with C.I. brackets, 15 mm C.P. brass pillar taps, 32 mm C.P. brass waste of standard pattern, including painting of fittings and brackets, cutting and making good the walls wherever require :				
37. 1	White Vitreous China Angle back wash basin size 400x 400 mm with single 15 mm C.P. brass pillar tap	1.00	1554.80	each	1555.00
38	Structural steel work riveted, bolted or welded in built up sections, trusses and framed work, including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer all complete.	150.00	73.65	kg	11048.00

39	Steel work in built up tubular (round, square or rectangular hollow tubes etc.) trusses etc., including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer, including welding and bolted with special shaped washers etc. complete.				
39. 1	Hot finished welded type tubes	100.00	95.85	kg	9585.00
40	Providing and fixing aluminium work for doors, windows, ventilators and partitions with extruded built up standard tubular sections appropriate Z sections and other sections of approved make conforming to IS: 733 and IS: 1285, fixing with dash fasteners of required dia and size, including necessary filling up the gaps at junctions, i.e. at top, bottom and sides with required EPDM rubber/ neoprene gasket etc. Aluminium sections shall be smooth, rust free, straight, mitred and jointed mechanically wherever required including cleat angle, Aluminium snap beading for glazing / paneling, C.P. brass / stainless steel screws, all complete as per architectural drawings and the directions of Engineer-in-charge. (Glazing, paneling and dash fasteners to be paid for separately) :				
40.	For fixed portion				
40. 1.1	Anodised aluminium (anodised transparent or dyed to required shade according to IS: 1868, Minimum anodic coating of grade AC 15)	25.00	343.70	kg	8593.00
41	Providing & fixing in position SFRC horizontal gully grating of size 570x520mm of 65mm thick with frame of size 685mmx640mm & 110mm total height complete as per the direction of Engineer in charge.	12.00	1414.49	each	16974.00
42	Providing and fixing 1mm thick M.S. sheet door with frame of 40x40x6 mm angle iron and 3 mm M.S. gusset plates at the junctions and corners, all necessary fittings complete, including applying a priming coat of approved steel primer.				
42.	Using M.S. angels 40x40x6 mm for diagonal braces	5.00	2942.00	Sqm	14710.00
43	Filling available excavated earth (excluding rock) in trenches, plinth, sides of foundations etc. in layers not exceeding 20cm in depth, consolidating each deposited layer by ramming and watering, lead up to 50 m and lift upto 1.5 m.	2.00	101.50	cum	203.00
44	Chequerred precast cement concrete tiles 22 mm thick in footpath & courtyard, jointed with neat cement slurry mixed with pigment to match the shade of tiles, including rubbing and cleaning etc. complete, on 20 mm thick bed of cement mortar 1:4 (1 cement: 4 coarse sand).				
44. 1	Ordinary cement without any pigment	10.00	608.25	Sqm	6083.00
45	Providing and fixing wooden moulded beading to door and window frames with iron screws, plugs and priming coat on unexposed surface etc. complete :				
45. 1	Kiln seasoned and chemically treated hollock wood				
45. 1.1	50x20 mm	20.00	102.75	metre	2055.00
	<u> </u>				

46	Providing & supplying of cut to size 6mm thick Krinkle/plain fibre glass polyster sheet & Acrylic modified polyster glass fibre reinforced structural sheet as per the direction of Engineer-in-charge				
46. 1	Plain sheet without in lay print	5.00	3448.55	Sqm	17243.00
46. 2	Sheet with in lay print as per existing design of Hall no. 6	5.00	3634.35	Sqm	18172.00
47	P/F vertical blinds 100 mm wide strips of approved fabric of approved quality(vista levelon or eq.) & of existing pattern locking arrangement of opening & closing,top & bottom rail fixing with nylon rope etc complete as per the direction of Engineer-in-charge.	4.00	1378.13	Sqm	5513.00
48	Removal of malba /building rubbish by means of mechanical transport including loading, unloading and stacking from Pragati Maidan to out side Municipal/dumping ground up to 20 K.M.	40.00	372.00	cum	14880.00
49	Providing and fixing G.I. Pipes complete with G.I. fittings and clamps, i/c making good the walls etc. concealed pipe, including painting with anti corrosive bitumastic paint, cutting chases and making good the wall :				
49. 1	15 mm dia nominal bore	6.00	263.70	metre	1582.00
50	Providing and fixing C.P. brass spreader conforming to IS standards complete as per direction of Engineer in charge.				
50. 1	15mm nominal bore	3.00	175.10	each	525.00
51	Providing and fixing uplasticised PVC connection pipe with brass unions :				
51. 1	45 cm length				
51. 1.1	15 mm nominal bore	3.00	67.35	each	202.00
52	15 mm cement plaster on the rough side of single or half brick wall of mix :				
52. 1	1:6 (1 cement: 6 fine sand)	20.00	154.70	Sqm	3094.00
53	Laying old cement cocrete interlocking paver blocks of any design/shape laid in required line, level, curvature, colour and pattern over and including 50mm thick compacted bed of coarse sand, filling the joints with fine sand etc. all complete as per the direction of Engineer-in-charge. (Old CC paver blocks shall be supplied by the department free of cost).	30.00	179.95	Sqm	5399.00
54	P/F 12mm thick cement laminated panel board of approved brand & quality with screws, nails etc. wherever required complete and as per the direction of E-I-C	20.00	631.45	Sqm	12629.00
55	P/F special quality M.S. Godown lock (HD) with seven levers i/c necessary nuts & bolts/screws etc. complete and as per the direction of Engineer in charge.(Best make of quality approved)				
55.	150mm size	3.00	450.00	each	1350.00

56	Providing and laying in position ready mixed M-25 grade concrete for reinforced cement concrete work, using cement content as per approved design mix, manufactured in fully automatic batching plant and transported to site of work in transit mixer for all leads, having continuous agitated mixer, manufactured as per mix design of specified grade for reinforced cement concrete work, including pumping of R.M.C. from transit mixer to site of laying , excluding the cost of centering, shuttering finishing and reinforcement, including cost of admixtures in recommended proportions as per IS : 9103 to accelerate/ retard setting of concrete, improve workability without impairing strength and durability as per direction of the Engineer - in - charge.				
56.	All works upto plinth level	7.00	6052.90	cum	42370.00
57	P/f 10mm thick Solar Control Poly Carbonate Sheet (Multiwall) having light transmission of 18% Alco profile 60mm width having a wt. of top and bottom profile 8kg approx. for 16feet with M.S. tube frame 50x50mm @ 90cm c/c bothways i/c gasket self tapping, locking ends, screwing, sealing with silicon etc. complete and as per the direction of Engineer-in-charge	7.00	3827.00	Sqm	26789.00
58	Providing and fixing tiled false ceiling of approved materials of size 595x595 mm in true horizontal level, suspended on inter locking metal grid of hot dipped galvanized steel sections (galvanized @ 120 grams/ sqm, both side inclusive) consisting of main "T" runner with suitablyspaced joints to get required length and of size 24x38 mm made from0.30 mm thick (minimum) sheet, spaced at 1200 mm center to center and cross "T" of size 24x25 mm made of 0.30 mm thick (minimum) sheet, 1200 mm long spaced between main "T" at 600 mm center to center to form a grid of 1200x600 mm and secondary cross "T" of length 600 mm and size 24x25 mm made of 0.30 mm thick (minimum) sheet to be interlocked at middle of the 1200x600 mm panel to form grids of 600x600 mm and wall angle of size 24x24x0.3 mm and laying false ceiling tiles of approved texture in the grid including, required cutting/making, opening for services like diffusers, grills, light fittings, fixtures, smoke detectors etc. Main "T" runners to be suspended from ceiling using GI slotted cleats of size 27 x 37 x 25 x1.6 mm fixed to ceiling with 12.5 mm dia and 50 mm long dash fasteners, 4 mm GI adjustable rods with galvanised butterfly level clips of size 85 x 30 x 0.8mm spaced at 1200 mm center to center along main T, bottom exposed width of 24 mm of all T-sections shall be pre-painted with polyester paint, all complete for all heights as per specifications, drawings and as directed by Engineer-in-charge.	10.00	239.57	Sqm	2396.00
59	P/f false ceiling with Gypsum tiles of size 600x600x9mm of Armstrong-FB board or equivalent fixed over a CI grid with CP brass screws complete and as per the direction of Engineer-in-charge. (The CI grid shall be paid seperately)	10.00	545.40	Sqm	5454.00
60	Clearing jungle including uprooting of rank vegetation, grass, brush wood, trees and saplings of girth upto 30 cm measured at a height of 1m above ground level and removal of rubbish upto a distance of 50 m outside the periphery of the area cleared.	1000.00	579.55	100sqm	5796.00
			Total	L	665914.00

Note- The rates should be quoted exclusive of service tax as applicable

-22-

INDIA TRADE PROMOTION ORGANISATION (Engineering Division)

CORRIGENDUM TO FORM 7/8/9 (CPWD) MUST BE READ ALONGWITH THE PAMPHLET

S.No.	FOR	READ
1.	Government of India	India Trade Promotion Organisation
2.	C.P.W.D. or Government	India Trade Promotion Organisation
3.	CPWD -7/8/9	CPWD 7/8/9
4.	President/President of India	C.M.D ITPO
5.	Chief-Engineer	General Manager (Works)
6.	Superintending Engineer	Dy. General Manager (Civil)/SM (Civil)
7.	Engineer-in-charge/Divisional	Manager (Civil)
	Engineer/Executive	
	Engineer/Divisional Office	
8.	Sub-Divisional Officer/Asstt. Engineer	Deputy Manager (Civil)
9.	Administration Head	C.M.D. /General Manager
10.	Ministry of Works & Housing	ITPO /Ministry of Commerce
11.	CPWD Code, Paragraph'90	Shall be applicable t o ITPO works
12.	DSR'2012	Shall be applicable to ITPO works
13.	CPWD specifications 2010 part – I & II	Shall be applicable to ITPO works
14.	DSR (Internal) 2012 for Electrical works	Shall be applicable to ITPO works
15.	CPWD specifications (Internal) 2010 for Electrical works	Shall be applicable to ITPO works
16.	DSR External 2012 for Electrical works and specifications	Shall be applicable to ITPO works
17.	Provision of Section 12 Sub-Section (i) of the works man compensation	Shall be applicable to ITPO works
18.	CPWD safety Code framed from time to time	Shall be applicable to ITPO works
19.	CPWD maternity benefits to labour	Shall be applicable to ITPO works
20.	Model Rules of the protection of health	Shall be applicable to ITPO works
	and sanitary appointment for workers employed by CPWD	
21.	CPWD contractor labour Regulations	Shall be applicable to ITPO works

MANAGER (Civil)

MANAGER (CIVIL)

<u>23</u> ADDITIONAL CONDITIONS

- 1. The work shall be carried out strictly as per CPWD specifications 2010, Part I & II with upto date correction slips.
- 2. The contractor shall take approval from the Manager (Civil)/Electrical in writing for collection and stacking of materials.
- 3. The contractor must follow CPWD Safety Code as provided in general conditions of contract for CPWD Works.
- 4. Any damage done by the contractor or his workmen to any existing work during the course of execution of the work shall be made good by him at his own cost.
- 5. Contractor shall clear the site thoroughly of all rubbish etc. left out of his materials immediately on completion of the work and properly clean the site around the building to the satisfaction of the Engg.-in-Charge. Otherwise the site will be cleared by the department at his risk & cost to remove and clean the site.
- 6. The contractor to whom the work is awarded will have to sign the agreement on non judicial stamp papers of Rs.50/- and the cost of such stamp paper will be borne by the contractor.
- 7. Cement bags shall be stacked by the contractor at space provided by ITPO of stipulated quantities at his own cost in his own.
- 8. Cement shall be kept under double lock system in space provided by ITPO fixed with the door. The key of the lock shall remain with representatives of the Engg-in-charge at the site of work and that of other with the contractor or his authorized agent. Day to day issue shall be entered in the prescribed register and signed by the contractor or his authorized agent.
- 9. All incidental charges of any kind whatsoever including cartage, cutting and wastage etc. shall be borne exclusively by the contractor and nothing extra will be paid to him on this account.
- 10. The contractors are required to submit the bill on their printed letter head having detail of TIN & Service Tax No. for release of payment.

Manager (Civil)

India Trade Promotion Organisation (Engineering Division)

Categories of Employees

All inclusive Minimum Rates of Wages per day

A. Un-Skilled

1	Mazdoor	Rs. 329.00	Each Per day
2	Mazdoor Coolies	Rs. 329.00	Each Per day
3	Helper to Mason, Fitter Carpenter & Painter	Rs. 329.00	Each per day
4	Any other categories doing un-skilled work	Rs. 329.00	Each per day

B. Semi Skilled

2. 8				
1`	Sewer man	Rs.363.00	Each Per day	
2	Chowkidar	Rs. 363.00	Each per day	

C. Skilled

c. Skiller				
1.	Glazier	Rs. 399.00	Each per day	
2	Carpenter	Rs. 399.00	Each per day	
3	Sanitary Fitter	Rs. 399.00	Each Per day	
4	Spray men for Road	Rs. 399.00	Each per day	
5	Mason	Rs. 399.00	Each per day	
6	Black Smith	Rs. 399.00	Each per day	

M (Civil) ITPO Manager (Civil) ITPO

<u>-25</u>

Ξ

<u>AGREEMENT</u>

WHEREAS	the	Authority	has,	under	Notification	No.
•••••			•••••	••••••	••••••	••••

WHEREAS the contractor has submitted tender for carrying out the work as above as per the tender document page to and has represented that in conformity with his/its obligation contained in the tender as modified by the correction slips and corrigendum contained he/it shall carryout the same truly, faithfully and honestly.

THE SAME has been accepted by both the parties on the terms and conditions, corrections, corrigendum contained in the tender as modified as well as the letter of acceptance Issued party No. 1 annexed here to as.

The same shall be binding on both the parties.

IN WITNESS WHEREOF, the parties have signed the deed of agreement on the date, month and year referred to above.

At New Delhi. WITNESS

1.	 Party No. 1
2.	 Party No. 2